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A man mark an article at 25% above the cost price and thereafter gives a 
discount of 10% to the customer. Find the ratio of the marked price, cost price 
and selling price.
एक व्यक्ति एक िस्ि ुक्रय मूल्य से 25% अधिक अंककि करिा है और उसके बाद ग्राहक को 
10% की छूट देिा है। अंककि मूल्य, क्रय मूल्य और विक्रय मूल्य का अनुपाि ज्ञाि कीक्िए।
(1) 8:9:10                   (2) 8:10:9                  (3) 10:9:8                (4) 9:10:8
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A man mark an article at 20% above the cost price and thereafter gives a 
discount of 11.11% to the customer. Find the ratio of the marked up price, 
discount and profit.
एक व्यक्ति एक िस्ि ुक्रय मूल्य से 20% अधिक अंककि करिा है और उसके बाद ग्राहक को 
11.11% की छूट देिा है। बढ़ाये गए मूल्य, छूट और लाभ का अनुपाि ज्ञाि कीक्िए। ।
(1) 1:2:3                   (2) 3:2:1                  (3) 3:1:2                (4) 1:3:2
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If the cost price is 83.33% of the selling price, what is the profit percent ?
यदद क्रय मूल्य विक्रय मूल्य का 83.33% है, िो लाभ प्रतिर्ि तया है?
(1) 20%                   (2) 16.67%                    (3) 25%                (4) 5.26%
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A merchant buys an article for ₹27 and sells it at a profit of 10% on the selling 
price. The selling price of the article is:
एक व्यापारी एक िस्ि ुको ₹27 में खरीदिा है और उसे विक्रय मूल्य पर 10% के लाभ पर 
बेचिा है। िस्ि ुका विक्रय मूल्य है:
(1) ₹29.70             (2) ₹30                 (3) ₹37                  (4) ₹3
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If there is a profit of 20% on the cost price of an article, the percentage of 
profit calculated on its selling price will be:
यदद ककसी िस्ि ुके क्रय मूल्य पर 20% का लाभ होिा है, िो उसके विक्रय मूल्य पर 
पररकललि लाभ का प्रतिर्ि होगा:
(1) 24           (2) 𝟏𝟔

𝟐

𝟑
(3) 𝟖

𝟏

𝟑
(4) 20
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A man purchased a bedsheet for ₹450 and sold it at a gain of 10% calculated 
on the selling price. The selling price of the bedsheet was: 
एक व्यक्ति ने ₹450 में एक बेडर्ीट खरीदी और उसे विक्रय मूल्य पर गणना ककए गए 10% 
के लाभ पर बेच ददया। बेडर्ीट का विक्रय मूल्य था:
(1) ₹ 460         (2) ₹475           (3) ₹480            (4) ₹500
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At what per cent above the cost price, must a shop–keeper marks his goods 
so that he gains 20% even after giving a discount of 10% on the marked price 
?
एक दकुानदार को अपने माल पर क्रय मूल्य से ककिने प्रतिर्ि अधिक अंककि करना चादहए 
कक अंककि मूल्य पर 10% की छूट देने के बाद भी उसे 20% का लाभ हो?
(1) 25%                 (2) 30%               (3) 33.33%                  (4) 37.5%
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Pooja wants to sell a watch at a profit of 20%. She bought it at 10% less and  
sold it at 30 less, but still she gained 20%. The cost price of watch is:
पूिा 20% के लाभ पर एक घडी बेचना चाहिी है। उसने इसे 10% कम पर खरीदा और इसे 
30 कम पर बेचा, लेककन किर भी उसे 20% का लाभ हुआ। घडी का क्रय मूल्य है:
(1) ₹240               (2) ₹220               (3) ₹250                 (4) ₹225
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A dishonest grocer sells rice at a profit of 10% and also uses weights which are 
20% less than the marked weight. The total gain earned by him will be: 
एक बेईमान पंसारी 10% के लाभ पर चािल बेचिा है और ऐसे बाटों का भी उपयोग करिा 
है िो अंककि ििन से 20% कम हैं। उसके द्िारा अक्िशि कुल लाभ होगा:
(1) 37.5%              (2) 40%                  (3) 30.5%                  (4) 35%
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By selling an article for ₹450, I lose 20%. For what price should I sell it to gain 
20% ?
एक िस्ि ुको ₹450 में बेचने पर मुझ े20% की हातन होिी है। 20% का लाभ प्राप्ि करने के 
ललए मुझ ेइसे ककस कीमि पर बेचना चादहए?
(1) ₹490            (2) ₹675             (3) ₹470              (4) ₹562.50
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A man gains 20% by selling an article for a certain price. If he sells it at double 
the price, the percentage of profit will be:
एक िस्ि ुको एक तनक्चचि मूल्य पर बेचने पर एक व्यक्ति को 20% का लाभ होिा है। यदद 
िह इसे दगुने मूल्य पर बेचिा है, िो लाभ का प्रतिर्ि होगा:
(1) 40%            (2) 100%        (3) 120%             (4) 140%
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A trader sold a cycle at a loss of 10%. If the selling price had been increased 
by ₹200, there would have been a gain of 6%. The cost price of the cycle is:
एक व्यापारी ने एक साइककल को 10% की हातन पर बेचा। यदद विक्रय मूल्य में ₹200 की 
िदृ्धि की िािी, िो 6% का लाभ होिा। साइककल का लागि मूल्य है:
(1) ₹1200           (2) ₹1205          (3) ₹1250              (4) ₹1275
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While selling to the retailer, a company allows 30% discount on the
marked price of their products. If the retailer sells those products at marked 
price, his profit% will be :
खदुरा विके्रिा को बेचि ेसमय, एक कंपनी अपने उत्पादों के अंककि मूल्य पर 30% की छूट 
देिी है। यदद िुटकर विके्रिा उन उत्पादों को अंककि मूल्य पर बेचिा है, िो उसका लाभ% 
होगा:
(1) 30%             (2) 𝟒𝟐

𝟏

𝟕
% (3) 40%                (4) 𝟒𝟐

𝟔

𝟕
%
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A shopkeeper sold an article at a certain price. If he sold it at Τ𝟐 𝟑 of that price; 
he loses 40%. There is a loss of x%; if he sold it at the original price?
एक दकुानदार ने एक िस्ि ुककसी तनक्चचि मूल्य पर बेची. यदद िह उस मूल्य के 2/3 में 
बेचिा है; िो उसे 40% की हातन होिी है. अगर िह इसे मूल कीमि पर बेचिा िो x% की 
हातन होिी है.
1. x = 11.11      2. x = 233.33     3. x = 10     4. x = 9.09    5. Can’t be determined
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A trader sells two articles, one at the loss of 10% and another at a profit of 15% 
but finally there is no loss or gain. If the total sale price of these two articles is ₹
30000, find the difference between their cost prices.
एक व्यापारी दो लेख बेचिा है, एक 10% की हातन पर और दसूरा 15% के लाभ पर लेककन 
अंि में कोई हातन या लाभ नहीं होिा है। यदद इन दोनों लेखों की कुल बबक्री मूल्य ₹ 30000 
है, िो उनकी लागि की कीमिों के बीच का अंिर ज्ञाि करें।
1. 5000        2. 4000        3. 2500         4. 6000        5. CND
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What is the percentage profit on the selling an article at a discount of 20% 
which was earlier sold at a 40% profit?
20% की छूट पर एक िस्ि ुबेचने में विक्रय मूल्य पर प्रतिर्ि लाभ तया है िो पहले 40% 
लाभ पर बेचा गया था?
1. 20%      2. 14.28%        3. 12.5%        4. 28.57%        5. 25.25%
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SI and CI Mixed Question 
(अविचिसनीय िरीके से हल करें)
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